Paper 2
                                                   Decimals                                      Aras 1(Senang)
Answer all questions.

	1   
	7.56 - 2.34 - 1.07 =



19 ÷ 10 = 

(Give the answer in decimal)

	
	


	
	


0.09 x 9 =

	
	

	


7 - 3.24 =

	
	



Write [image: image1.png]


in decimal.

	
	


2 + [image: image2.png]


= 

(Write the answer in decimal )

	
	

	
	
	
	


	


0.75 ÷ 5 =

	
	


	

	9   
	1.7 + 28 =




Convert 0.4 to over ten fraction.

	
	


	


27 - 1.7 =

	
	


	


Diagram 1 shows a number line. 
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		DIAGRAM 1



	What is the number at X?
	

	
	
	
	


	

	13   
	2.45 x 10 =



	14   
	14.6 - 0.8 =



	
	
	
	


	

	15   
	16.8 - 1.4 =




	


Arrange the number in descending order.


		[image: image4.png]0.9

14







	
	

	
	
	
	



Read 24.05

	
	

	18   
	Write 20.14 in words



	
	
	
	


	19   
	4.38 - 2.15 =



	
	
	
	


	


0.48 ÷ 2 =
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